

Tree of Fermat-Pramanik Series and Solution of $A^M + B^2 = C^2$ with Integers Produces a New Series of $(C_1^2 - B_1^2) = (C_2^2 - B_2^2) = (C_3^2 - B_3^2) = \text{Others}$

Panchanan Pramanik^{1*}, Susmita Pramanik¹, Sabyasachi Sen²

¹Department of Instrument Engineering and Electronics, JADAVPUR University, Salt Lake Campus, Kolkata, India

²Department of Microelectronics & VLSI Technology, Maulana Abul Kalam Azad University of Technology, West Bengal, Haringhata, India

Email: *pramanik1946@gmail.com

How to cite this paper: Pramanik, P., Pramanik, S. and Sen, S. (2024) Tree of Fermat-Pramanik Series and Solution of $A^M + B^2 = C^2$ with Integers Produces a New Series of $(C_1^2 - B_1^2) = (C_2^2 - B_2^2) = (C_3^2 - B_3^2) = \text{Others}$. *Advances in Pure Mathematics*, **14**, 160-166. <https://doi.org/10.4236/apm.2024.143008>

Received: January 14, 2024

Accepted: March 18, 2024

Published: March 21, 2024

Copyright © 2024 by author(s) and Scientific Research Publishing Inc.

This work is licensed under the Creative Commons Attribution International License (CC BY 4.0).

<http://creativecommons.org/licenses/by/4.0/>



Open Access

Abstract

The Fermat-Pramanik series are like below:

$A_1^2 + A_2^2 + A_3^2 + A_4^2 + A_5^2 + A_6^2 + \dots + A_{n-1}^2 = A_n^2$. The mathematical principle has been established by factorization principle. The Fermat-Pramanik tree can be grown. It produces branched Fermat-Pramanik series using same principle making Fermat-Pramanik chain. Branched chain can be propagated at any point of the main chain with indefinite length using factorization principle as follows:

$$A_1^2 + A_2^2 + A_3^2 + A_4^2 + A_5^2 + \dots + A_{n-1}^2 = A_n^2$$

$$C_1^2 = C_2^2 \Rightarrow (A_4^2 + C_1^2 = C_2^2) \Rightarrow 21^2 + 20^2 = 29^2$$

Same principle is applicable for integer solutions of $A^M + B^2 = C^2$ which produces series of the type $(C_1^2 - B_1^2) = (C_2^2 - B_2^2) = (C_3^2 - B_3^2) = \dots = (C_n^2 - B_n^2)$.

It has been shown that this equation is solvable with $N\{A, B, C, M\}$.

$$A^M = A^{M_1+M_2} = A^{M_1} A^{M_2} = (C+B)(C-B) = C^2 - B^2 \text{ where } C+B = A^{M_1},$$

$C-B = A^{M_1}$, $M = M_1 + M_2$ and $M_1 > M_2$. Subsequently, it has been shown that

$$C_1^2 - B_1^2 = C_2^2 - B_2^2 = C_3^2 - B_3^2 = \dots = C_n^2 - B_n^2 = A^{M_1+M_2+M_3+M_4+M_5+M_6+\dots+\text{so on}} = A^M$$

using $M = M_1 + M_2 + M_3 + \dots$. The combinations of M s should be taken so that the values of both the parts $(C_n + B_n)$ and $(C_n - B_n)$ should be even or odd for obtaining $Z\{B, C\}$. Hence, it has been shown that the Fermat triple can generate a) Fermat-Pramanik multiplate, b) Fermat-Pramanik Branched

¹+: symbol denotes branching of A_4 "square" to C_1 square.

multiplate and c) Fermat-Pramanik deductive series. All these formalisms are useful for development of new principle of cryptography.

Keywords

Fermat Theorem, Fermat-Pramanik Tree, Solution of $A^M + B^2 = C^2$, Deductive Series, Generation of Fermat's Triode, Generation of Fermat Series

1. Introduction

Theory of number has become crown of mathematics since Pythagoras time.

The Pythagorean equation,

$$A_1^2 + A_2^2 = A_3^2 \quad (1)$$

has an infinite number of positive integer solutions for A_1, A_2 and A_3 ; these solutions are known as Pythagorean triplets (P.T.) (with the simplest example $3^2 + 4^2 = 5^2$ [1]-[6]). Around 1637, Fermat wrote in the margin of a book that the more generalized equation, $A_1^n + A_2^n = A_3^n$ had no solutions in the positive integers if n is an integer greater than 2. In theory, this statement is known as Fermat's Last Theorem (it is also called as Fermat's conjecture before 1995). The cases $n=1$ and $n=2$ have been known from Pythagoras time having infinite solutions [1]. The proposition was first stated as a theorem by Pierre de Fermat around 1637. It was written in the margin of a copy of *Arithmetica*. Fermat claimed that he had a proof and due to the lengthy calculation, he was unable to fit in the margin of the copy. However, after his death no document was found to substantiate his claim. Consequently, the proposition became as a conjecture rather than a theorem. After 358 years of effort by mathematicians, the first successful proof was completed in 1994 by Andrew Wiles and formally published in 1995. It was described as a "stunning advance in mathematics" in the citation for Wiles's Abel Prize award in 2016. It was also proved many parts of the Taniyama-Shimura conjecture. Afterward, it was defined as the modularity theorem, and opened up new approaches to numerous other problems and developed powerful technique known as modularity lifting in mathematics. It is among the most outstanding out come in mathematical analysis [7] [8] [9]. Very few attempts have been made to extend the Fermat's equation upto the 4th term [10] [11]. Recently Pramanik et.al has shown that Pythagoras triplet can adapt n number of terms in place of three terms [12].

$$A_1^2 + A_2^2 + A_3^2 + \dots + A_{n-1}^2 = A_n^2 \quad (\text{Fermat-Pramanik multiplate}) \quad (2)$$

It is already discussed how to generate Pythagoras triplet by simple method which is illustrated briefly below [3].

$$\begin{aligned} A_1^2 + A_2^2 &= A_3^2 \\ A_1^2 + A_2^2 = A_3^2 &\Rightarrow A_1^2 = A_3^2 - A_2^2 \end{aligned} \quad (3)$$

$$\therefore A_1^2 = (A_3 + A_2)(A_3 - A_2) \tag{4}$$

Now let us consider $A_1 = B_1 B_2$ where all are odd or even. If A_1 will be prime then one of the B will be 1.

Henceforth from Equation (4) we can obtain,

$$A_3 + A_2 = B_2^2 \text{ and } A_3 - A_2 = B_1^2 \text{ Involving } B_1 \text{ and } B_2 \tag{5}$$

$$\text{Thus, } A_3 = \frac{B_1^2 + B_2^2}{2} \text{ and } A_2 = \frac{B_2^2 - B_1^2}{2} \tag{6}$$

With this principle it has been shown that Fermat-Pramanik multiplate can be generated [3]. It is to be noted that A_3 and any of A_1 and A_2 of Pythagorean triplets should be odd numbers if there is no common factor for A_1 , A_2 and A_3 .

Now principle of generation of branching of Fermat-Pramanik multiplate will be illustrated by a simple principle. Let A_1 is even and it is related with A_2 and A_3 through Equation (4) which is $A_1^2 = (A_3 + A_2)(A_3 - A_2)$.

A_2 and A_3 can be generated from any combination of B_1, B_2, B_3, B_4 etc. If all B s are “odd” then the following combinations will be permitted for A_1 as illustrated in **Table 1**.

Order of values of B s are $B_1 < B_2 < B_3 < B_4 < \dots$. For Illustration the following values of B_1, B_2, B_3, B_4 are taken $B_1 = 5, B_2 = 11, B_3 = 19, B_4 = 29$. Thus,

$$A_3 = (B_1^2 + B_2^2)/2 \text{ and } A_2 = (B_2^2 - B_1^2)/2. \text{ Now sets will be generated are as follows,}$$

$$A_1^2 + A_2^2 = A_3^2 \Rightarrow A_1^2 = A_3^2 - A_2^2$$

If all B s are even the choice for solution of A_1, A_2, A_3 have no problem. A_3 may have any number of any of B s and A_2 may have any number of any of B s. It is to be noted that all A_3 and A_1 are odd (**Table 2**).

Table 1. Scheme of formation of Fermat triode $A_1^2 + A_2^2 = A_3^2$ where all B s are odd. $B_1 = 5, B_2 = 11, B_3 = 19, B_4 = 29$.

Serial no	Values for A_3 as per Equation (6)	Values of A_2 As per Equation (6)	$A_3 > A_2$	Value of A_1 as per Equation (6)
1	B_2 73	B_1 48	System of 2Bs	55
2	B_3 193	B_1 168	System of 2Bs	95
3	B_3 241	B_2 120	System of 2Bs	209
4	B_4 433	B_1 408	System of 2Bs	145
5	B_4 481	B_2 360	System of 2Bs	319
6	B_4 601	B_3 240	System of 2Bs	551
7	$(B_1 + B_2 + B_3)$ 1033	B_4 192	System of 4Bs	1015
8	$(B_2 + B_3 + B_4)$ 1753	B_1 1728	System of 4Bs	295
9	$(B_1 + B_2 + B_4)$ 1193	B_3 832	System of 4Bs	855
10	$(B_1 + B_3 + B_4)$ 1465	B_2 1344	System of 4Bs	583
11	$(B_2 + B_3 + B_4)$ 1801	B_2 1680	System of 4Bs	649
12	$(B_1 + B_2 + B_3)$ 673	B_2 552	System of 4Bs	385
13	$(B_3 + B_4 + B_2)$ 1433	$(B_1 + B_2 + B_3)$ 592	System of 6Bs	1305
14	$(B_2 + B_2 + B_4)$ 1721	$(B_1 + B_1 + B_3)$ 880	System of 6Bs	1479

Table 2. Scheme of formation of Fermat triode $A_1^2 + A_2^2 = A_3^2$ where all B s are even $B_5 = 10 < B_6 = 16 < B_7 = 18 < B_8 = 24$.

Serial no	Values for A_3 as per Equation (6)		Values of A_2 as per Equation (6)-all		$A_3 > A_2$	Value of A_1
1	B_8	338	B_8	238	System of $2Bs$	240
2	B_8	416	B_6	160	System of $2Bs$	384
3	$B_8 + B_3$	740	B_7	416	System of $2Bs$	612
4	$B_8 + B_6$	850	B_5	750	System of $2Bs$	400
5	$B_8 + B_7$	1220	$B_5 + B_6$	544	System of $2Bs$	1092
6	$B_5 + B_6$	730	$B_5 + B_7$	54	System of $2Bs$	728
7	$(B_5 + B_6 + B_7)$	772	$B_6 + B_7$	672	System of $2Bs$	380
8	$(B_6 + B_7 + B_8)$	2020	$B_5 + B_6$	1344	System of $2Bs$	1508
9	$(B_5 + B_7 + B_8)$	1690	$B_5 + B_7$	1014	System of $2Bs$	1352
10	$(B_5 + B_6 + B_7)$	1360	$B_5 + B_7$	576	System of $2Bs$	1232

2. Branching of Fermat-Pramanik Series

Now principle of branching will be illustrated.

If the Fermat-Pramanik series are like below [12],

$$A_1^2 + A_2^2 + A_3^2 + A_4^2 + A_5^2 + A_6^2 + \dots + A_{n-1}^2 = A_n^2 \tag{7}$$

Branching can be done at any A_x for $x = 1, 2, 3, 4, \dots$ so on and at any number. Then first it to be checked at A_x for its odd or even character. Let A_4 is taken for illustration. If A_4 is odd and branching is to be done at A_4^2 , then A_4 should be the product of two different odd numbers. If A_4 is prime number then one number may be 1.

If A_4 is even and it is the product of two even numbers then it can be used for branching.

$$A_4^2 + C_1^2 = C_2^2 \Rightarrow A_4^2 = C_2^2 - C_1^2 \Rightarrow A_4^2 = (C_2 + C_1)(C_2 - C_1) \tag{8}$$

Now it may be assumed $A_4^2 = X^2Y^2$ where X and Y are even and $X > Y$.

Therefore, $C_2 + C_1 = X^2$ and $C_2 - C_1 = Y^2$.

$$C_1 = \frac{X^2 + Y^2}{2} \text{ and } C_2 = \frac{X^2 - Y^2}{2} \tag{9}$$

Hence $A_1^2 + A_2^2 + A_3^2 + A_4^2 + A_5^2 + \dots + A_{n-1}^2 = A_n^2$
 $\quad\quad\quad +^2$

$$C_1^2 (20^2) = C_2^2 (29^2) \Rightarrow (A_4^2 + C_1^2 = C_2^2) \Rightarrow 21^2 + 20^2 = 29^2$$

Let it to be illustrated with the numbers. To expand it further, the prime number 29 has been considered which can thus be splitted as the product of 1×29 . Thus, $C_3 = (29^2 - 1)/2 = 420$ and $C_4 = (29^2 + 1)/2 = 421$. Henceforth,

$$A_4^2 + C_1^2 + C_2^2 + C_3^2 = C_4^2 \Rightarrow 21^2 + 20^2 + 420^2 = 421^2.$$

²+: symbol denotes branching of A_4 "square" to C_1 square.

C_1 can also be expanded with the same principle. So any number of branches of any length can be fabricated after proper scrutiny of A_x finding X and Y , hence C_s .

3. Solution of $A^M + B^2 = C^2$

This equation is solvable with $N\{A, B, C, M\}$. Even then the combination should be taken so that the values of both the parts will be even or odd.

$$A^M = C^2 - B^2 \tag{10}$$

$$A^M = (C + B)(C - B) \tag{11}$$

Now, if $M = M_1 + M_2$ and $M_1 > M_2$ then,

$$A^M = A^{M_1+M_2} = A^{M_1} A^{M_2} = (C + B)(C - B) \tag{12}$$

Now if A is even, then both A^{M_1} and A^{M_2} are even and $A^{M_1} > A^{M_2}$. Henceforth from Equation (12) we can obtain,

$$B + C = A^{M_1} \text{ and } C - B = A^{M_2} \tag{13}$$

Therefore,

$$B = \frac{A^{M_1} - A^{M_2}}{2} \text{ and } C = \frac{A^{M_1} + A^{M_2}}{2} \tag{14}$$

$$\therefore C^2 - B^2 = A^{M_1+M_2} = A^M \tag{15}$$

Let various combinations of M_s may be taken (here are $3M_x$) as $M = M_1 + M_2 + M_3$ and values are as follows $M_1 < M_2 < M_3$.

Here two sets of M_s are taken: (a) $M_1 + M_3$ and M_2 and (b) $M_2 + M_3$ and M_1 .

Therefore,

$$C_1 + B_1 = A^{M_1+M_2} \text{ and } C_1 - B_1 = A^{M_2} \tag{16}$$

Thus the product of $(C_1 + B_1)$ and $(C_1 - B_1)$ will result in,

$$C_1^2 - B_1^2 = A^{M_1+M_2+M_3} = A^M \tag{17}$$

Similarly,

$$C_2 + B_2 = A^{M_2+M_3} \text{ and } C_2 - B_2 = A^{M_1} \tag{18}$$

Therefore, the product of $(C_1 + B_1)$ and $(C_1 - B_1)$ will yield in

$$C_2^2 - B_2^2 = A^{M_1+M_2+M_3} = A^M \tag{19}$$

Thus, from Equations (17) and (19) we can obtain,

$$C_1^2 - B_1^2 = C_2^2 - B_2^2 \tag{20}$$

For more elaboration N_1 upto N_8 are accepted and values of N_s are in this order of $N_1 > N_2 > N_3 > N_4 > N_5 > N_6 > N_7 > N_8$. Some of the combinations are illustrated in **Table 3**.

Table 3. Various combinations of M_x for evaluation of B_x and C_x .

Combination of $C_x + B_x$	Combination of M_x s for $C_x + B_x$	Combination of $C_x - B_x$	Combination of M_x s for $C_x - B_x$
$C_1 + B_1$	$A^{M_1+M_2+M_3+M_4}$	$C_1 - B_1$	$A^{M_5+M_6+M_7+M_8}$
$C_2 + B_2$	$A^{M_1+M_2+M_3+M_4+M_5}$	$C_2 - B_2$	$A^{M_6+M_7+M_8}$
$C_3 + B_3$	$A^{M_1+M_2+M_3+M_4+M_5+M_6}$	$C_3 - B_3$	$A^{M_7+M_8}$
$C_4 + B_4$	$A^{M_1+M_2+M_3+M_4+M_5+M_6+M_7}$	$C_4 - B_4$	A^{M_8}
\vdots	\vdots	\vdots	\vdots
so on	so on	so on	so on

Here is a small numerical example. For $A = 2$ and $M = 1 + 2 + 3 + 4 = 10$,

$$C_5 + B_5 = A^{1+2+3} \text{ and } C_5 - B_5 = A^4 \tag{21}$$

Thus, evaluated values of B_5 and C_5 are 40 and 24 respectively and therefore, $40^2 - 24^2 = 2^{1+2+3+4} = 2^{10}$.

Similarly, For $A = 2$ and $M = 1 + 2 + 3 + 4 = 10$,

$$C_6 + B_6 = A^{4+3} \text{ and } C_6 - B_6 = A^{1+2} \tag{22}$$

Therefore, evaluated values of C_6 and B_6 are 68 and 60 respectively and henceforth, $68^2 - 60^2 = 2^{1+2+3+4} = 2^{10}$.

Thus it may be concluded that a new deductive series from Fermat–Pramanik principle can be generated as,

$$C_1^2 - B_1^2 = C_2^2 - B_2^2 = C_3^2 - B_3^2 = \dots = C_n^2 - B_n^2 = A^{M_1+M_2+M_3+M_4+M_5+M_6+\dots+\text{so on}} = A^M \tag{23}$$

where, $M = M_1 + M_2 + M_3 + M_4 + M_5 + M_6 + \dots + \text{so on}$.

Thus we have shown that the Fermat triple can generate a) Fermat-Pramanik multiplate [12], b) Fermat-Pramanik Branched multiplate and c) Fermat-Pramanik deductive series. All these formalisms are useful for cryptography and those studies are in progress [13].

Acknowledgement

The authors are grateful to Jadavpur University, Kolkata for moral support.

Conflicts of Interest

The authors declare no conflicts of interest regarding the publication of this paper.

References

- [1] Vinogradov, I.M. (2003) Elements of Number Theory. Dover Publications, Mineola.
- [2] Long, C.T. (1972) Elementary Introduction to Number Theory. 2nd Edition, D.C. Heath and Company, Lexington.
- [3] Hardy, G.H. and Wright, E.M. (2008) An Introduction to the Theory of Numbers. Oxford University Press, Oxford.

- [4] Niven, I.M., Zuckerman, H.S. and Montgomery, H.L. (2008) An Introduction to the Theory of Numbers. John Wiley & Sons, Hoboken.
- [5] Rosen, K.H. (2010) Elementary Number Theory. 6th Edition. Pearson Education, London.
- [6] Granville, A. (2008) Analytic Number Theory. In: Gowers, T., Barrow-Green, J., Leader, I., Eds., *The Princeton Companion to Mathematics*. Princeton University Press, Princeton.
- [7] Singh, S. (1997) Fermat's Last Theorem: The Story of a Riddle that Confounded the World's Greatest Minds for 358 Years. Fourth Estate.
- [8] Weil, A. (1984) Number Theory: An Approach through History—from Hammurapi to Legendre. Birkhäuser, Boston.
- [9] Wiles, A. (1995) Modular Elliptic Curves and Fermat's Last Theorem. *Annals of Mathematics*, **141**, 443-551. <https://doi.org/10.2307/2118559>
- [10] Wünsche, A. (2024) Three- and Four-Dimensional Generalized Pythagorean Numbers. *Advances in Pure Mathematics*, **14**, 1-15. <https://doi.org/10.4236/apm.2024.141001>
- [11] Beji, S. (2021) A Variant of Fermat's Diophantine Equation. *Advances in Pure Mathematics*, **11**, 929-936. <https://doi.org/10.4236/apm.2021.1112059>
- [12] Pramanik, S., Das, D.K. and Pramanik, P. (2023) Products of Odd Numbers or Prime Number Can Generate the Three Members' Families of Fermat Last Theorem and the Theorem Is Valid for Summation of Squares of More Than Two Natural Numbers. *Advances in Pure Mathematics*, **13**, 635-641. <https://doi.org/10.4236/apm.2023.1310043>
- [13] Kraft, J.S. and Washington, L.C. (2018) An Introduction to Number Theory with Cryptography. 2nd Edition. Chapman and Hall/CRC Press, Boca Raton.